LB-30-2 01/02/2008
LB-30-2
Macca (HeTT0) 22.5 Kg
Buemnue Pazmepsi 380*280*320 mm*mm*mm




LB-30-2 01/02/2008
¥Y3ea nacoca LB-30-2
Kon HaumeHoBaHune JITICIERES MR 2
€eMOCTb AeTannpoBke
4022230010 | Bnok nopLuHeson LB-30-2
11131005 |BbonT wkuBa M10x45 (JleBOCTOPOHHWMIN) 1 1
11124001 |LWanba cTonopHas NeBOCTOPOHHsSAS P8 1 2
21213002 |Ulanba $38 1 3
21212002 |LllUkme $©266,7 1 4
11131004 | Bont kpenneHus M8x25 4 5
11123003 |IpaBepHas wanbda $8 20 6
21113003 |lMepenHss Kpbllika 1 7
21166003 |CanyH 1 8
21152001 |lMpoknagka nepefHen KpbILKK 1 9
21161004 |CanbHuk 24*47*8 1 10
21134001 |lMoawwnnHuk 62052 1 11
21131003 |KoneHBan 1 12
21111009 |Kaptep 1 13
21169001 |Mpobka cnvBa Macna 1 14
21164002 |MacnoykasaTternb 1 15
11131001 | Bont KpenneHns Kpbiwkn M6x20 3 16
11123002 |IpaBepHas wanbda $6 3 17
21112003 | 3agHsas KpbiLka 1 18
21155001 |[lMpoknagka 3agHemn KpbILLKW 1 19
21134002 |MoawwnnHuk 6204 1 20
21162002 |Macnopasbpbl3rnsatenb 2 21
11133002 | BonTt macno pasbpbisrusatensd M5x10 2 22
21132004 |lWaTtyH 2 24
21167002 |[lMpobka 3anueBa macna 1 23
21141003 |MopleHb P65 2 25
21144002 |CTonopHoe konbuo 14,7 4 26
21143002 |Maney nopwHsa ®14,5x57,5 2 27
21145003 |KomnnekT koneu, $65 2 28
11141001 | Wnuneka M8x35 8 29
21153001 |[lNpoknagka umnuHap — kaptep P65 2 30
11111002 |lawka M8 8 31
21121004 |UmnuHgp $65 2 32
21151002 |lNpoknagka 6rnoka knanaHoB HWKHASS P65 2 33
21124003 |KnanaHHbIl 6ok 8 komrnekme P65 1 34
21154001 |lNpoknagka 6rnoka knanaHoB BepxHAs P65 2 35
11132004 |BonTt Bo3ayLwHoro dunbtpa M8x30 4 36
11122001 |MepHas wanba ©8 4 37
21175002 | dunbTp BO3AYLIHbIN B cOope 2 38
11132006 |BonT Kpbiwku 6noka umnmuHgpos M8x50 8 39
21123003 |l[onoBka uinuHapa 2 40
21174001 | TpoWHMK 1 41
11113001 |lavika ©14,5-27 1 42
21171002 |Pagnatop 1 43
21173001 |YronbHUK 1 44
21125013 |[lnacmuHbl KnanaHHble 8 Komrnekme (2wm) 1 34/2
21126002 | AntomuHuesasi rnpoknaoka 1 34/3
21177012 |[lampoH 8030ywHO20 ¢huribmpa 1 38/2




	LB-30-2

